Sr. Nos.	. Work description			Selected area Qty							
51. NOS.			Selected area Q	OS amount		Shyam Ent. amount		Sahani amount		Nego. OS amount	
1	Ball room 1, 2 and common ceiling painting(Make- Asian paint tractor Emulsion)	Sq. ft.	2000	19	38000	27	54000	18	36000	18	36000
2	Green room, Green rooms toilets painting(Make- Asian paint tractor emulsion)	Sq. ft.	200	19	3800	27	5400	18	3600	18	3600
3	Both common toilets doors, Office door polishing with matt melamine polish.	Sq. ft.	460	70	32200	90	41400	75	34500	65	29900
4	Both hall AC trap door normal repair and painting with oil paint	Sq. ft.	1000	23	23000	120	120000	25	25000	23	23000
5	Both patios below fins wall painting only(Make- Apex altima exterior paint)	Sq. ft.	1550	23	35650	35	54250	35	54250	23	35650
	Total amount			132650		275050		153350		128150	
	Taxable amount			156527 324559		1559	180953		151217		
											4

L1

OS Interior

The palace hall

Sr. Nos.	Work description	Unit			
51. 1403.	work description	onic	Selected area Q	Rate	
1	Ball room 1, 2 and common ceiling painting(Make- Asian paint tractor Emulsion)	Sq. ft.	2000	18	36000
2	2 Green room, Green rooms toilets painting(Make- Asian paint tractor emulsion) Sq. ft. 200		18	3600	
3	Both common toilets doors, Office door polishing with matt melamine polish.Sq. ft.460		65	29900	
4	Both hall AC trap door normal repair and painting with oil paint Sq. ft. 1000 23 2		23000		
5	Both patios below fins wall painting only(Make- Apex altima exterior paint)	Sq. ft.	1550	23	35650
	Total amount			128150	
	Taxable amount			151217	

Mr. /	Ajay	Jadhav
-------	------	--------

5

Mobile No - 97735 97150

				Email-osinte	eriors11@gmail.com
	OS INTER	IO	R	5	
	Gala No - 29, Mangalmurti Rahivasi Seva Sang. Aadharsh Nage Specialist in-Maintenance and I		West). Mun	<u>ıbai - 400 067</u>	1
Client]	Name - NSCI				
Client .	Address - NSCI		Quotat	tion No -	92
Contac Mail II).		Da	ate -	27-06-2024
	Repairing work	1			
Sr. Nos.	Particulars	Unit	Qty.	Rate	Amount
1	Lambi, putty appling for damages ceilling and painting 2 cote. (Make - Asian)	L/S	1	19	19
2	Melalmine matt finish wooden polish	L/S	1	70	70
Total Amount 89					
Taxes 18% Grand Total					
	Payment Terms- 50% Advance along	with work		inu rotur	
	We hope you will find our offer in this line & look for			order.	S ANTRA BROOM
	THANK YOU FOR YOUR OF	FFER!		Y	ours faithfully

Capex Purchase

From:	OS Interiors <osinteriors11@gmail.com></osinteriors11@gmail.com>
Sent:	21 October 2024 11:25
То:	Harish Tirlotkar
Subject:	Palace hall painting work rate of BOQ
Attachments:	Revised BOQ.xlsx

Dear sir,

Please find the attachment of Palace hall painting work rate of BOQ

Thanks& Regards,

Os Interiors

	The palace hall					
Sr. Nos.	Work description	Unit				
51. 105.			Selected area Q	Rate		
1	Ball room 1, 2 and common ceiling painting(Make- Asian paint tractor Emulsion)	Sq. ft.	2000	18	36000	
2	Green room, Green rooms toilets painting(Make- Asian paint tractor emulsion)	Sq. ft.	200	18	3600	
3	Both common toilets doors, Office door polishing with matt melamine polish.	Sq. ft.	460	75	34500	
4	Both hall AC trap door normal repair and painting with oil paint	Sq. ft.	1000	25	25000	
5	Both patios below fins wall painting only(Make- Apex altima exterior paint)	Sq. ft.	1550	35	54250	
Total amount					350	
Taxable amount			180	953		

SAHANI PAINTING WORK

ALL KINDS OF PAINTIANG WORK CONTRACTOR

SAMARTH KRUPA CHAWL, GAREL COMPOUND, GOURAIPADA, NALLASOPARA EAST, TAL-

VASAI, DIST-PALGHAR-401209.

Quotation

DATE:-07/07/2024

GSTIN NO: AA2701240106677F

PAN NO: GEPPS8829

40 RS. PAR RFT

To, PAILES HALL WARLI MUMBAI

ALL HALL FURNITURE POLISH & PU KOTING AND SILING PAINT

- 1. FURNITURE POLISH AND PU MATE KOTING 95RS. PAR SFT
- 2. FUNITURE POLISH AND PU MATE KOTING
- 3. SILING PLASTIK PENT PRAMAR PUTTI SATH PAR SFT ASIAN PENT 21 RS. 1SFT

The palace hall

Sr. Nos.	Work description	Unit			
51. NOS.	work description	Unit	Selected area Q	Ra	ite
1	Ball room 1, 2 and common ceiling painting(Make- Asian paint tractor Emulsion)	Sq. ft.	2000	27	54000
2	2 Green room, Green rooms toilets painting(Make- Asian paint tractor emulsion) Sq. ft. 200		27	5400	
3	Both common toilets doors, Office door polishing with matt melamine polish.	Sq. ft. 460 90 4140		41400	
4	Both hall AC trap door normal repair and painting with oil paint Sq. ft. 1000 120 12		120000		
5	Both patios below fins wall painting only(Make- Apex altima exterior paint)	Sq. ft.	1550	35	54250
	Total amount				050
Taxable amount			324	559	

for shyam enterprise

extra work extra charge

Capex Purchase

From:	Kishan Motilal Prajapati <shyamenterprise021@gmail.com></shyamenterprise021@gmail.com>
Sent:	18 October 2024 14:15
То:	Harish Tirlotkar; Pravin Takle
Subject:	I am sharing 'Revised BOQ.xlsx' with you from WPS Office
Attachments:	Revised BOQ.xlsx

Please check the attachment

Get WPS Office for Free: <u>https://kso.page.link/wps</u>